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           42 531 = 40 000 + 2 000 + 500 + 30 + 1 

 
What numbers need to go in the boxes below? 

 

1. 47 678  = 40 000  +  7 000  +                  +  70  +  8 

 

 

2. 93 412  =  90 000   +                   +   400  +  10  +  2 

 

 

3. 67 893  =                      +  7 000  +  800  +  90  +  3 

 

 

4. 98 765   =  90 000  +                      +  700 +  60  +  5 

 

 

5. 65 432  +  60 000  +  5 000  +  400  +                   + 2 

 

 

 

In the number 34 567 there are: 

3         ten thousands 

4         thousands 

5         hundreds 

6         tens and 

7         units 

 

 

 

 

      

                                 
 

 

6.  How many ten thousands are there in  56 976 ? 

 

7.  How many ten thousands are there in  47 666? 

 

8.  What is the value of the 9 in   83 908 ? 

 

9.  What is the value of the 1 in  47 419 ? 

 

10. What is the value of the 2 in  205 166 ? 

 

I think I get 

it! 



 
5201-02    Partition up to 5-digit numbers (pg 1)     Answers                                       

Free resources from Mathsblog in association with www.mathsgogogo.co.uk    © Mathsgogogo 
 
1. 600           2. 3 000            3. 60 000                  4. 8 000                 5. 30 

6. 5               7. 4                   8. 900                        9. 10                   10. 200 000 

 

 

 

 

 

 


